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Instructions for Candidates

.  Write your Roll No. on the top immediately on receipt of this question paper.
2. Attempt all questions.

3. All questions carry equal marks.

4. Use of simple calculators is allowed.

5. Answers may be written either in English or in Hindi; but the same medium should

be used throughout the paper.
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What is the significance of using statistical methods in geography ?

OR

Define sampling. Explain the techniques of random sampling.
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A college has 1600 students out of which 740 are in the first year. Out of the first
year students 160 are science students and 210 arc commerce students. Qut of
the total 550 students in science 240 are in second year. The total number of
students in second year is 510. The number of third year students in commerce

is 100 and the total number of arts students is 620. On the basis of this information

prepare a table showing the number of students classwise and coursewise.

OR
For the data given below construct
{a) A frequency distribution
(b) A relative frequency distribution

(c) A cumulative frequency distribution

120 39 112 138 194 | 94 117 119 | 44 208
161 178 169 114 | 48 16 119 156 107 | 95
133 170 125 160 | 99 108 199 | 93 179 | 84
50 139 | 99 93 135 162 | 205 107 | 41 153
103 96 131 194 | 91 79 67 255 173 (176
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120 39 1t2 138 194 | 94 17 119 | 44 208

16} 178 169 114 | 48 16 119 156 107 | 95

133 170 125 160 + 99 108 199 1 93 179 | 84

50 139 | 99 93 135 162 | 205 107 | 41 153

103 96 131 194 | 91 79 67 255 173 ) 176

3. Data for number of persons employed in various units of coalfields in 3 regions
is given below. In which region is the average number of persons employed

largest 7
No. of employeces Jharia Ranigan| Singrauli

0-100 15 7 2
100-200 18 10 8
200-300 16 12 3
300-400 14 8 5
400-500 6 9 i
500-600 9 13 6
600-700 13 9 7
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OR

Calculate the mean and standard deviation for the following data :

X

100-200

200-300

300-400

400-500

500-600

600-700

700-800

f

40

80

80

160

120

60

40

G TiEen & D wed A el % go weE 2 ) R aw @ Sed S e .

aftre 27
FTAIRG W q FRar T e
0-100 15 7 2
100-200 18 10 g
200-300 i6 i2 3
300-400 14 3 5
400-500 6 9 i
500-600 9 i3 6
600-700 13 9 7
Jreran
Frmfaiaa sieg @1 stem W fge 5@ 3
X | 100-2001200-300;300-400 | 400-500 | 500-600 | 600-700 | 700-300
f 40 80 80 160 120 60 40

Calculate the mcan centre of the following distribution and locate it on a graph

paper.
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Settlement X co-ordinate Y co-ordinate Population
A 4 13 40
B 6 1 25
C 9 6 30
D 8 3 15
E 2 12 10
F 10 10 50
G 7 9 45
OR
Calculate the regression equation of
{a) YonX
(b XonY
for the following data
X | 65| 63167 64| 68| 62| 70| 66| 68167 [ 69 | 71
Y| 68} 66| 68) 65| 69 60| 68 [ 65| 71 | 67 | 68 [ 70
FfaRed wiedl = W @ A" e 9 3% T W AR
e X Fme Y fdmes ERse]
A 4 13 40
B 6 it 25
C 9 6 30
D g 3 15
E 2 12 10
F 10 10 50
G 7 9 45
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Fafofaa snesl =1 vl @i s Sl
(%) X&1 YW,

(@) Y& X ®

X | 65 63 | 67| 64 | 68 62 | 70 | 66| 68 | 67 | 69 | 71

Y | 68 66 | 68 65 | 69 | 60 | 68 | 65| 71 | 67 | 68 | 70

5. Following are the percentage {igures of expenditure on clothing and entertainment
mcurred by a family for 10 vears. Calculate the Spearman’s correlation co efficient

for the data :

Year % of expenditure % of expenditure
on clothing on entertainment

1990 24 11

1991 27 8

1992 31 5

1993 32 3

1994 20 13

1995 25 10

1996 33 2

1997 30 7

1998 28 9

1999 22 2
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Calculate Pearson’s co efficient of correlation between income and expenditure

on basis of given data.

Income (Rs})

20

30

40

50

60 | 70 | 80

90

100

Expenditure (Rs)

15

10

25

30

35 | 40 | 40

45

45

10 99 ¥ v IRaR g el 91 FHiod Wy 1 s (v ) ¥ v wo (e
F Hle - Fa af g v deu e S R iR |

EL T R =y (feaa) X AR W =g (9fReE) Y
1990 24 11
1991 27 8
1992 31 5
1993 32 3
1994 20 i3
1995 25 10
1996 33 2
1997 30 7
1998 28 9
1999 22 2
3rerdn
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